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The box: m (width, depth, height)=(7.50002pt, 0.0pt, 25.0pt). Baseline drawn
to show depth/height but will be visible only if depth is not zero.
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The box:
(width, depth, height)=(345.0pt, 0.0pt, 25.0pt). Baseline drawn to show depth/height

but will be visible only if depth is not zero.
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(width, depth, height)=(345.0pt, 0.0pt, 25.0pt). Baseline drawn to show depth/height
but will be visible only if depth is not zero.
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(width, depth, height)=(345.0pt, 18.16669pt, 6.83331pt). Baseline drawn to
show depth/height but will be visible only if depth is not zero.
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The box: [A__Bl (width, depth, height)=(25.0pt, 0.0pt, 6.83331pt). Baseline
drawn to show depth/height but will be visible only if depth is not zero.
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The box: [A_B( D (width, depth, height)=(100.0pt, 0.0pt, 6.83331pt).
Baseline drawn to show depth/height but will be visible only if depth is not zero.
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